

WEALTH BOOST YOUR BUSINESS





Smart Customer's - Smart Choice

02

Place for Unlimited Wealth



Our Mission Is To Create More Financial Freedom In The World.

We define financial freedom as the ability to be Wealthy. i.e., choosing their requirements with respect to their own desire not by looking at Price Tags. We believe financial freedom is the foundation for peace and prosperity. Our motto is to provide numerous opportunities for every individual to become financially free.

"WEALTH GALAXY" Means Unlimited Wealth. If you connect with faith and desire along with smart work, sky is our limit.

www.mywealthgalaxy.com



CUSTOMER BENEFITS

EARN FROM YOUR LIFESTYLE EXPENSES

On Each Purchase User Get Shopping Points. Points Depends on the Profit of The Company from that Transaction.

SHOPPING OPTIONS

- ➤ E-Commerce...
- ➤ Local Shops Area Wise ...
- ➤ Brands Through Gift Cards ...

AFFILIATE BENEFITS

- ✓ Referral Galaxy
- ✓ Pool Galaxy
- ✓ Club Galaxy
- ✓ Founders Club Galaxy
- ✓ Awards & Rewards







MERCHANT BENEFITS

BOOST YOUR BUSINESS

Total 5000 Satisfied Customers (50 Shop's x 100 Customer's)

SCOPE OF BUSINESS IN A MONTH

| Customers | Value | Total Business | |
|-----------|-------|----------------|--|
| 5000 | 2000 | 1,00,00,000 | |
| 5000 | 1000 | 50,00,000 | |
| 5000 | 500 | 25,00,000 | |
| 5000 | 100 | 5,00,000 | |

05

Place for Unlimited Wealth



06

Place for Unlimited Wealth

MONTHLY EXPENSES



| Items | Amount | Cash back % | Shopping Points |
|-------------------|--------|-----------------|-----------------|
| Income | | | |
| Other Income | | | |
| Income Total | | | |
| Expenses | | | |
| Groceries | 5000 | 5% | 2.5 |
| Mobile Recharge | 1000 | 3% | 0.3 |
| Electricity & DTH | 1000 | 3% | 0.3 |
| Medical | 1000 | 10% | 1.0 |
| Clothing | 5000 | 10% | 5.0 |
| Car & Bike Fuel | 2000 | 5% | 1.0 |
| Insurance | 2000 | 5% | 1.0 |
| Electronics | 2000 | 5% | 1.0 |
| Hotel & Tea Cafe | 2000 | 10% | 2.0 |
| Holiday | 2000 | 10% | 2.0 |
| Education | 1000 | 10% | 1.0 |
| Other's Shopping | 1000 | 10% | 1.0 |
| Totals | 25000 | Shopping Points | 18.1 (15)* |

www.mywealthgalaxy.com

07

Place for Unlimited Wealth

OUR BUSINESS OWNER'S



On Each Purchase User Get Shopping Points. Points Depends on the Profit of The Company from that Transaction.











www.mywealthgalaxy.com

